IEI (LHRE) www.shishubang.com Zi g IR AN 224 22 S R IET- 6 !

et a0 A R B RO R B BAR MR F X

P BUBRA KR B iR, —RRAAAEAM B e (kA%
X AAAER, IEEAFAT): — P HREERT, JUH 2 R ol T is H
FHECTN S )5 3 A 7 M IE R A, I s R A, B 00 22 AR (M 82 e ) fllis H 261
71, MERERIR o AR ZE T DA— 8 iU f51] R 13 B Ak BRI S ) R O 5 L B
—. AR
(—) M1k B A S
L RECRIIEIE: £ (x) 7€ [a,b] BN, N
xx, €[ab]n < x, o f (1)< f (v, ) EERERKER, RBHERAERANER SR
BRADRRKIBED
20 B £ (x) 1 [a,b] LIS LB, Tx, € (a.b). f (x,) =0, Maxe(a,x,)
F(x)<0:ixe(x.b) i, £(x)>0 CRBESTARATHES QLR ANERENGD)
3. FHUEsEIEN:

D (f(x)g(x)) =1 (¥)g (x)+/ (x)g (x)

4. FiE R BURANE BT

(1) SRR EAEAE 2 LR, A S FHRANT Rl Fr DA BIX SR B 2R 6 S 45 R 4 &
EoNr. ERERK LS AR IRIMT 4, WA ER IR B A . WE NIRRT AT
PARA B N T 0

(2) FEAE 3 bR B AR S5 A R Rr AT AR, B B VAR S (S A T e e B & e R ok
RN RGN 23T 58 5 T R B

(3) BEKR B I 0 E R R BRI S T A, WS B R MBI T B Pre iR e
B 52 R BRI R, 0 H BRI R e IR T L 5 TR T

(= R R B o 5 P AR i AN 25

Lo BONRRS BRI SRS R S Bt AR B 5 i 2 KNS R BUE M S R &R

TS G WA f () BORFREIA x = 1, FLE (1,+00) (L. AT LI H 85



IEI (LHRE) www.shishubang.com Zi g IR AN 224 22 S R IET- 6 !

CRECSE O R I SR B S f (x), RRBMER), /5], IR x = kT, sk

BB AT 2 e il 5 H AR B R R
2. WBEAENR: WRPBAEXAET LS EM o, EHEKCETBAA MR, —KE
GNATSCRT AT R — A e R, I BRATE 5 SRS Rt R A S AR A

FHIONE R £ (x) < g(x). Hob £ (x), g (x) MBS Bl f(x)<g(x) T
51 £ (x) MPEIRTE g (x) BRI F 7. $RIEIGIREI & 4 th T o,

T MR

il 1: 58 XAE (0, +00) LA S £ (x) W2 xf (x)<f(x), f(1)=0, )”Jf( )<0EI’J

X

A ( )

A. (0,1) B. (0,1)U(1,+oo) C. (1,+oo) D. &
Teh: RAGFRA f(x) AR, PTARREE EA N DA LA RMTF K. B &

xf (x) <f(x)TH xf(x) = f(x) <0, B AL 5 A T A R iT $ 2 a0 R %8 H ok ) AT AE,

ausmmrsxl g ’i”“(f(x)j ) S ) e s g ek, s

2
X X

F)=L) (x):(f(x)jl _S =S () (0, 400) 8

F(1)= fgl) ﬁfruf( )<0é’3ﬁ%%fa (1,+00)
X

BHE: C

IR S

(1) AL AEY BARERH: RATRAMGLAT EMAFX, NEELHHELAN, £mE
FRA A E B FOF R LR, B NN R0 AT AT AE B R B R T

(2) sARHEa R EH = —Rxf (x)<f(x)RAKRFOHE, KA FHA G H
B, ZRIFETE XIS TH BT AR R E — & Bik K4 52t 3t Lig”
(3) #hadeth f(1)=0894F M : AR S AMRAL S KR

Bl 2: BRE () BESENR, f(-D) =2, 3 MEBEIxe R, E f'(x)>2, 0 f(x)>2x+4

2



